NI R/KW/18/9445

Bachelor of Commerce (B.Com.) Semester—|1 Examination

STATISTICSAND BUSINESSMATHEMATICS

(Compulsory)
Time : Three Hours|
N.B.:— (1) All questions are compulsory.
(2) All questions carry equal marks.
1. (@ Wha isSaidics ? Explan its functions
(b) Find out Geometric Mean and Harmonic Meen :

Marks No. of Students
20-30 5

3040 13
40-50 7

50-60 11
60-70 4

OR
(¢ Fnd out Meen, Median and Mode from the following details .—

Marks No. of Students
upto 10 02

upto 20 20

upto 30 50

upto 40 95

upto 50 130

upto 60 150

upto 70 156

upto 80 160

2. (8 Definedisperson and discuss the Sgnificance of disperson.
(b) Cdculae Mean deviation from the Median :

X = 10 15 20 30 40 50
f : 8 12 15 10 03 02
OR
() Cdculae coefficent of variaion from the following informetion .—
Temp. in °C No. of days
—40t0—-30 10
-30to—-20 28
—-20to-10 30
—-10to 0 40
0to 10 65
10 to 20 180
20 to 30 10
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(b)

(©

(b)

(©

(d)

(b)

(©)

(d)

FHind out Bowley's coefficient of skewness

Sze 10 11 12 13 14 15
f o 2 4 10 8 6 2 8
Find out Bowley's coefficient of skewness :
Income (in Rs) : 100, 120, 150, 140, 180, 175, 189 8
OR
Cdculate Karl Pearson’s coefficient of skewness :
Daily Income (Rs.) No. of Persons
More than 10 100
More than 20 97
More than 30 90
More than 40 70
More than 50 40
More than 60 25
More than 70 15
More than 80 8
More than 90 3 16

Find the compound interest for 2 years on Rs. 14,000 @ 10% PA. if :

() Theinterest is payable annudly

(i) Theinteres is payabdle hdf yealy. 8
On a certain commodity a manufacturer takes 20% profit, a wholsdler 25% profit and a

Retaler 40% profit. If a consumer purchasad the atide for Rs. 700, find out its manufacturing
cost. 8

OR

A house owner increased the rent of his house by 15% and after some days reduced a the
rate of 15%. How much less or more rent is being pad by the tenant now than the origind
Rent ? 8

The total sdary of two employees is Rs. 10,350, the proportion of their sdary is 7 : 8. Find the
sday of each employee. What reduction should be made in their sdary s0 that the proportion
becomes 5: 6 ? 8

Make a frequency distribution with intervals of 10 from the following data (beginning
from 30) —

85, 66, 69, 40, 64, 59, 43, 84, 82, 92
63, 56, 72, 41, 44, 34, 85, 90, 68, 65
45, 83, 55, 53, 57, 79, 63, 81, 90, 71

80, 73, 74, 39, 36, 43, 57, 95, 93, 88 4
Find out Standard Devidion —

n = 230, Sfdx = 758, Sfdx = 125, i = 10 4
Find out skewness —

Mean = 50, Median = 51, Mode = 53, SD. 4.68 4
Find the compound interest of Rs. 1,200 at the rate of 12% P.A. for two years, if the interest is
pad quarterly. 4
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Bachelor of Commerce (B.Com.) Semester—|1 Examination
STATISTICSAND BUSINESSMATHEMATICS
(Compulsory)
Time : Three Hours| [Maximum Marks : 80
N.B.:— (1) All questions are compulsory.
(2) All questions carry equal marks.

(Fdt wTeEw)
1. (3) wifes we @@ ? @El wH TS & 8
(¥) Zusll HomTER. 8
faar
(%) @t TR 16
2. (3) SUlhRUME e &l ST IUHRU Hecd TISC . 8
(3) 3 ATEHITAR. 8
far
(F) SUSIT HTHHTIETR. 16

e B 3, 4 M7 5 ZAST HEHTER.
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(o=t wremm)
1. (3r) @ifesr & e w1 B 7 SEa w e @i 8
(%) 3USH #EmH & AR 8
EREN
() USH wEH & AR 16
2. (3) Iufexor & egrEr <R Ud IUlRRUl FT Hecd TS i | 8
(&) USH wEH & IFAER | 8
EREL
(F) UST AeH & FER | 16

e FHIG 3, 4 TaH 5 SUS HIHZH & AIER |
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